
Ver : 0.0

OWNER’S MANUAL / 
Instructions for Assembly 
Size 8 Ft x 6 Ft / 2.4 m x 1.8 m (Approx.)

Foundation Kit -

Ver : 0.0

OWNER’S MANUAL / 
Instructions for Assembly 
Size 10 Ft x 8 Ft/3.2 Mtr. x 2.4 Mtr. (Approx.)  

Foundation Kit -

Call us for any missing or damaged parts.
Do not return to the store.

        Customer
        Service Hotline
        (800) 483-4674

www.duramaxbp.com

Note : Follow Part 1 only for 8 Ft x 6 Ft Foundation Assembly

PART-1
 8 Ft x 6 Ft Foundation Assembly Instruction

PART-2
 8 Ft x 6 Ft Foundation With One Extension Assembly       
 Instruction

Note : Follow Part 2 only for 8 Ft x 6 Ft Foundation With    
          Additional Extensions Assembly

TOOLS YOU WILL NEED

Cordless Drill - Philips Head     Rubber mallet Hand Gloves Goggles Carpenters Square Level - 3ft.



Note:  Check all parts prior to installation.

1

Make 2 Sets.Note
F11B

F10B

S1

F10B (x2)

F11B (x2)

 Level floor surface required

1

 Remove all obstacles  Clear area of stones

PARTS NEEDED     
    FOR BASIC

F10B 2
F11B 2
F12B 2
F13B 3

  ACCESSORIES
     FOR  BASIC

CODE QTY
S1 14

Note
 2.  Set the torque limit of your screw drill to #3 or #4 to ensure the screws 
      do not strip the metal profiles. 

 1.  It is important that these instructions are followed step by step. 

1

CODE QTY

S1 (x4)

PART - 1 : 8 Ft x 6 Ft  Foundation Assembly

Parts List



2

 4

Make 4 Sets.Note

F12A

F13A

F10

3

S1 (x2)

2

2

S1 (x2)

1

2

F12B

F11B

F10B

F12B

S1 S1

Fig.1 Fig.2

F11B
F12B

F12B

F10B

1

2
F11B

F10B

F12B

F11B

F10B

F12B

Fig.2

S1

F12B

F11B

Fig.1

S1

F12B

F10B



5

1

F13B (x3)

4

3

F12

F14A

F14A

S1 (x6)

S1

F13B

F13B

F13B

The Base ‘U’ Channels are only 
in the Shed Box, not along with 
the Foundation.

Note

S1

B1LB / B1LS

B1RB / B1RS

B2B / B2W

B22 / B22Q

B21 / B21QB2B / B2W

1



4

7

6 Assembly on concrete floor - Optional 

After completing the assembly of shed, mark the 
holes on concrete through the foundation frame and 
using Dia. 6mm. drill bit to make the holes.  Secure 
with Dia 6mm Wall Plug and Dia 4.2 x 32mm self 
tapping screw (not provided).  This is optional and 
should be done for wind area if needed.

Foundation Frame

Base U-Channel

Dia 6.0mm Wall Plug

Dia 4.2 x 32mm Screw

Concrete

After completing the assembly of shed place exterior 
grade CDX 3/4” (19 mm) plywood inside the 
foundation.

The Plywood should be placed 
after completing the Wall 
Assembly.

Note

1168 mm (46”)

1168 mm (46”)

1547 mm (61”)

B1LB / B1LS

B1RB / B1RS

B2B / B2W

Parts needed (not included) :
DESCRIPTION                              QTY
Dia. 4.2 x 32mm. (5/32” x 1 1/4”)
Self tapping screw                            16
Dia 6 mm Wall plug                          16

Option -1  Plywood (not included)



8

5

9

Option - 2   Concrete

After completing the assembly of the base
U-Channel fill the concrete up to the 
foundation top surface.



Parts List

Note:  Check all parts prior to installation.

1

Make 2 Sets.Note
F11B

F10B

S1

F10B (x2)

F11B (x2)

 Level floor surface required

1

 Remove all obstacles  Clear area of stones

PARTS NEEDED     
    FOR BASIC

F10B 2
F11B 2
F12B 2
F13B 3

PARTS NEEDED
FOR  EXTENSION

CODE QTY
F10 1
F11 1
F12 3
F14 4

  ACCESSORIES
     FOR  BASIC

CODE QTY
S1 14

  ACCESSORIES
FOR  EXTENSION

CODE QTY
S1 16

Note
 2.  Set the torque limit of your screw drill to #3 or #4 to ensure the screws 
      do not strip the metal profiles. 

 1.  It is important that these instructions are followed step by step. 

6

CODE QTY

PART - 2 : 8 Ft x 6 Ft  Foundation Assembly With One Extension 

S1 (x4)



2

 4

Make 4 Sets.Note

F12A

F13A

F10

F12B (x1)

F11  (x1)

3

For additional each extension,
add one F11.Note

S1

F12B (x1)

F10  (x1) S1 (x1)

2

For additional each extension,
add one F10.Note

7

S1 (x1)

S1

F12B

F10

F11

F12B



5

F11B

F10

S1

F10B

F11

Fig.2Fig.1

F13B (x8)

F12  (x4)

4

8

Make 4 sets.Note
For additional each extension,
add one F12.

F12

F14A

F14A

S1 (x8)

S1 (x2)

F12

F13B

2

1

F10B

F11B
F10

F11

F12B

F12B

S1



9

F11B

F12B

S1

Fig.2

F10B

F12B

S1

7

S1 (x2)

S1 (x6)

6
S1 (x2)

Fig.1

F10B

F11B
F12B

F12B

2

1

S1

F13B

F13B

F13B

F12

F12

F12



8

S1

For additional each extension,
add four F14.Note

10

9

S1 (x8)F14 (x4)

F14

F14

F14

F14

The base ‘U’ channels are only 
in the shed box, not along with 
the foundation.

Note B2B / B2W

B22 / B22Q

B21 / B21Q

B2B / B2W

B1LB / B1LS

B1RB / B1RS

EXTR

EXTL

S1



Assembly on concrete floor - Optional 10

11

11

After completing the assembly of shed, mark 
the holes on concrete through the 
foundation frame and using Dia. 6mm. drill 
bit to make the holes.  Secure with Dia 6mm 
wall plug and Dia 4.2 x 32 mm self tapping 
screw (26 Nos.not provided).  This is 
optional and should be done for wind area if 
needed

Foundation Frame

Base U-Channel

Dia 6.0mm Wall Plug

Dia 4.2 x 32mm Screw

Concrete

Parts needed (not included) :
DESCRIPTION                              QTY
Dia. 4.2 x 32mm. (5/32” x 1 1/4”)
Self tapping screw                            18
Dia 6 mm Wall plug                          18

Option -1  Plywood (not included)

After completing the assembly of shed place exterior 
grade CDX 3/4” (19 mm) plywood inside the 
foundation.

The Plywood should be placed 
after completing the wall 
assembly.

Note

1168 mm (46”)

1168 mm (46”)

B2B / B2W

B1RB / B1RS

EXTR

B1LB / B1LS

2337 mm (92”)



7

After completing the assembly of the base
U-Channel fill the concrete up to the 
foundation top surface.

Option - 2  Concrete

12

12

Plywood sizes for each extension

FRONT

BACK

8’ x 6’ with 2 extension - 8’ x 10’ 

2337 mm 

790 mm 
1168 mm 

1168 mm 



U.S. Polymers, Inc.
1057 S. Vail Ave, 
Montebello, CA 90640,
United States of America.

U.S. Polymers, Inc.
1057 S. Vail Ave 
Montebello, CA 90640,
United States of America

RD-1.0 2014-03-19 

U.S. Polymers, Inc.
1057 S. Vail Ave 
Montebello, CA 90640,
United States of America

RD-1.0 2014-03-19 

U.S. Polymers, Inc.
1057 S. Vail Ave 
Montebello, CA 90640,
United States of America

RD-1.0 2014-03-19 RD-0.0 2014-08-03 




